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N oo ] s

Time : 2 Hrs,

Full Marks : 120

Note : Before answering the

questions, read i i i
OMR thier carefully the instructions given on the

> RO BT20e0 Eraint $006 OMR amvns SEsws” BIGED BIDHOR BT SEH0E,

SECTION—I : MATHEMATICS

: 1. The pair of linear equations ax+by+c =0 and azx+byy+cy =0 has a unique
solution, then

QX +by+c) =0 DB ayx+byy+c, =0 & BPADH HWoEGeTe B JZE A5 908, P

1 ‘a b @ _b.a
*_' _/Vr{ az:#bz (2) flg_bQQth
a _b_o a _b
| 3) ay by cp (#) a by

' 2. Nimra went to a bank to withdraw ¥2,000. She asked the cashier to give her ¥50
and ¥100 notes only and she got 30 notes in all. How many notes of
¥50 and ¥100 respectively that she received?

R 2,000 Er3chHeo HETSERE e ergolh 308, & s RAHE & Jwps 50 Srrdmabes
| 20800 100 8redihe Few @y 252006608, Do 30 Sy e ST, &0 S5 9
50 8rarahe $% 50805 100 Eramabe Sy St 72

(1) 20,10 (2) 15,15
) 10, 20 (4) None of these
A0 5°)

SPACE FOR ROUGH WORK /%5508 %;:}m

/4_.D [ 1] [P.T.O.
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3. If 2 is a root of the equation X2 px+¢q -0 and p” 4q, then the other root is

2 = pr+ g = 0 0N SESEFDE 2 2.8 Baren $o8akn p? = 4q 02, QOE"S HITVWH

(0 -2 (2) 2

(3)

1

2

4. The ratio of the sum and product of the roots of the quadratic equation
7x%-12x+18=0 is

7x% —12x+18 = 0 & 5§ $R¥GeaD Bk, arere Do 2BAHL ORSIO Y

(1) 7:12 (2) 7:18
(3) 3:2 MA) 2:3

5. If the area of a rectangle is 112 m? and its length is 6 m more than the breadth,
then the breadth of the rectangle is

2.8 B SB8S0 Bk, Prrogin 112 m? Hu8ck o0 Bk, D, deey) Kol 6 m ;D eowd, &

53 V&GP0 BwE), ke
(1Y 8m (2) 14m
(3) 10m (4) 12m

6. Find the 10th term of the arithmetic progression 5, 1,-3,-7,....

5,1,-3,~7,.... 93 e0¥ B $0& 10D S5E50
(1) 31 42 =31 1A
(3) 30 (4) -30 S N 2
7. The sum of first 10 terms of the arithmetic progression 34, 32, 30, ... is
34, 32, 30, .... @it ®0¥ [ H06> o 20 10 Save Jno
(1) 200 (2) 225
A3) 250 (4) 275
T SPACE FOR ROUGH WORK /285508 P,

t Py ga () .
(D" -8 4~ O
& 2]
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e
,2’4181' .
21,111
] 12:41_8',... l’bﬂ@&é‘a 12:}:}6&]3
P
— 1
2 (@) o=
B) — 1
i1 (4) 210
9. Which of the following is a geometric progression?
08 T0S° R D872
PR |
}1) P e ] (2) -2,-4,-12
2°4’8 il
(3] 3)4: 6: 12:-" (4) X, 1’ x2’___

10. The coordinates of the point P which is equidistant from the three vertices of the
AAOB as shown in the figure is

56006 57°9% AAOB |B8Hes0 B0k, Ho7°¢ BTre 5008 SH7 Br808° ) Yotk P By, dErdses

AY
*RA(O, 2y)
P
“—0 BEx, 0) X
(0, 0)
v

) @ @

o (33) o (33

SPACE FOR ROUGH WORK I a&;:o;’)a)é %:6;‘).13

i
=

/4-—D (3]
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11. In what ratio, Y-axis divides the line segment joining the points P(-4,2) and Q18,3);

12.

P(—4,2) 208 (8, 3) woiipess £8% Bgr powey) Y-eso DiHBS” D067

A1) 3:1 (2) 1:3
(3) 2:1 (3 R
If the centroid of a triangle formed by the points (a,b), (b,c) and (c,a) is a¢ the

origin, then g 343+ =

(@,b), (b,c) S0Bdfn (c,a) DoSIDHOE® DEES |Beomo Bas), HSEs oo Sore DoY) 5
DRYeawd, g3 +p3 403 = g

((/f)/ abe (2) O

(8) a+b+c (4) 3abc
! | 3
13. If the points (1,2),(~1,k) and (2,3) are collinear, then the value of k is
(1,2), (-1, k) 30805 (2,3) & Botopes SEHATB, k sevs ?E )/ ko
/g{/‘? %‘1 ]U "\
4 2 _ 3.k k- ] il

14. If the slope of the line Joining the points (4,2) and (3,~k) is -2, then the value of kis

(4,2) S8k (3,-k) eod VoD 9D $8Ba Tren —2 ©od, k Jend

(1) =3 2) 4 l
(3) 3 (4) 4

15. In the following figure, if DE | BC, then x=
¢ 808 S008° DE || BC ©o0d, x =

S .1".

J 3
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16. AABC ~ ADEF, the area o

;i e 2
BC=2'1cm, then EF = AABC=9cm® and the area of ADEF =16 cm? . If

AABC ~
ADEF , AABC 30550 9 cm? %5805 ADEF Pwesn 16 cm?. BC =2-1cm woxd,

EF =
(8) 2:5cm :
(4) 41cm

AD
17. In AABC, DE || BC’B}E:% and AC=5'6cm, then AE =7

a8 |&2hwo ABC %ok, DE || BC,%%:% S08afn AC =5'6 cm @o0d AE = ?
(1) 3 cm (2) 5cm
(3) 2'1cm (4) 7 cm

18. In the given figure, PA and PB are the tangents to the circle with centre at O. If
ZAPB = 36°, then ZAOB =
QDY Fewos®, PA 508k PB e OBogor Ko 5yzm08 R50Pen. LAPB = 36° ©00d, LAOB =

(2) 134°

le]/ 1440 [4] 1540

19. The area of the shaded region in the given figure is
20y% S5008° 0& Dabwd ($B%0 BooY), PTOFI

1) 4m sq. units (2) 16— 16m sq. units
- 16 — 4n sq. units (4) None of these
( B9 5%

SPACE FOR ROUGH WORK / mg:mg r?g;b:m
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20. In the given figure, the radius of each outer circle is a, then the radius of the

inner circle is

32 Be0&", (98 el o Bk, TSR0 a s, §°9O 5B TN

(1) W2+1) ,m/ a(V2+1)

B) 2-1) 4 aW2-1).
21, tli'lﬂietlli:ngﬂi;lbreadth and height of a cuboid are 8 cm, 3 cm and 4 cm respectively
en the total surface area of the cuboid is 0 o Nes s,
2L o By n XY 2(@9) g
2.8 BEI000 Bo0¥); 2D, Déke), I8y KO 8 cm, 3 cm, 4 cm ©oD, & BEH0 B0k, Bogrgse
éi‘eao I T s O AN
(1) 48 cm? (2) 72 cm? =
_A3] 136 cm? (4) 108 cm? b

(1) 20 2] 15

(3) 50 (4) 30

23. If sech +tan6 = k , then secO—tang =?

S€CH + tan@ = k @on®d sech —tand = ?

(1) k 1
(e +

a ] 1
!_-] k? (4) 2
C

SPACE FOR ROUGH WORK / DBISO8 Jebian
e ®
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sma+sin|3+sm7~3mé
(1) © COS L+ cosp +cos y =
(3) 2 (2) 1

4y 3
‘tan67° = tan(A +30°), then the value of A is
tan67° = tan(A + 30°) eowd, A pevd '
e (2)— 45
: NS

250 If t'an48°.ta_n230—tan42°

tan48° A tan230 ; tarl42°
)y 30°

. X o 4
26. If asin45°=bcosec30°, then the value of E; is
b

. 4
asin45° = bcosec 30° 2008, %; BE),; Dewd

R ' (2) 28

':@/23 4y 26

27. If sin”6+cosec?0 =6 , then sin® + cosech =
sin?0 +cosec?8 = 6 @0®, sind + cosech =

(1) 32 ; /QT/IzJE
B 42 | 4) V2

28. A tree is broken by wind, its upper part touches the ground at a point 10 metres
from the foot of the tree and makes an angle of 45° with the ground. Then what is

the entire height of the tree?
2.8 Z:e.g wd2 9BR0B. ted IBAD P grifo, D grifo (o) od 10 vead E5808° Doy =208

%5805 @6 #E" 45°% §%0 DAY, & ey L, 0B IBY JoB?
_fj,.}/ 15 m (2) 20m
\ V3
43) 10(1++2)m ,,.(4\ 10(1+7 m

29. If two towers of heights h, and h, subtend angles of 30° and 60° respectively at the
. midpoint of the line joining their feet, then the ratio of h, : h, is

h, %8050 h, JEe0 SORS Bocd REHTPen T3 Troid YOS Bgr ocio Ty, Sl DOE ehox
3:3153 e s gﬂww;mmm 30° 508050 60° @ond, T e DY h, : h, =

21 (2) 1:2
:;; A 1 S 1 3
- (e SPACE FOR ROUGH WORK /980508 i
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 x
If the probability of guessing the correct answer to a questionis 7 and the probﬂb:’liw

30. :
then the value of x is

is gg

of not guessing the correct answer
X
a8 (35 HBADA SATTEE0 WOWT® DOKEED e Sogrdg® 19 S080500 @0HT® DODBE ek X}Omé%

3
(A 45 2] 4

31. A box contains 24 balls of which x are red, 2x are white and 3x are blue. A bg] is
selected at random. What is the probability that the selected ball is not red?

24 motes o &8 DFS® x IO, 2X Bevh 5Bk 3x Heo BolH LOBIN 6. BOKS K0d 4
2080 81, & 208 JKY So/H 2B D Ko SogrHgh

@)

A4)

(1)

Wl o=
| |

(3)

32. Two dice are ﬂlrown'at the same time. What is the probability that the sum of the
two numbers appearing on the top of the dice is more than 10?

G0 0¥ o S
) D500 288 JEDTE). Toe3 oY 53 Soge 2080 10 508 K0S @605 He Qogrigs

0o ?
1
) — :
0 35 B —/
. , 12
© 26 1
_ 13

33. 2 cards of hearts and 4
¢ card Sl
is drawn at random frg © of spades are missing from a pack of 52 cards. A card

m the remaini : :
black card? aming pack. What is the Probability of getting 4

52 % 905,00 Ke g8 SQe* TNSOSTose 5y
508 0.5 Syt O eyinEom &

(1) =
e ]

(3) = 46

:
Qcollegedunlaé
India’s largest Student Review Platform



. The aver <] Of 8] i, 5 )
34 V a-g tlle bse ations 10, 20 65 102 108 11 .
] b ? ? 1
'a;‘)sa)éiﬁ 10' 20: 65; 102, 108, 115 U":&Jﬂ Gil)gb. RIS

(1) 50 .
2] 70

(3) 60
(4) 40

35, If 35 is removed from
! th
increases by o e data 30, 34, 35, 36, 37, 38, 39, 40, then the median

30, 34, 35, |
36, 37, 38, 39, 40, &§E:0%05° 35 > FoRodveONB, T B 2eddS” VIS
@y 2 @ 15
(3) 1 (4) 05
36. The modal class of the following frequency distribution is

255 |BoB THYDg Derresdnn GBS aPTRISED) HEKS

Class Interv al 0-20 gq_,40 40-60 60-80 80-100
BHEND ©20HB0

Number of Students 15 18 21 29 17
:Jc:rgtge: 202)y

(1) 80100 . (2) 0-20

(3) 60-80 (4) 40-60

37. If th de and mean of a data are 24 and 60 re3pective1y, then the median of the
. the mode€

data i1s
o 0 ®o0®, &3 5T0B0 VY
“ 458050 @08 ;’13&.’:53500 L¥e 24 HoBaIR 6 : i I
2.8 (508 G3208); pITRITEDD
Bocsg/560
) 48
(1) 49 J/é

(4) 46

(3) 47 AP T
SPﬂCE i"()l\'- H( )U(]I | W{ JI'\’.K /:]t"lal.\}l.\} ) 111::1Jull)

:
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38. The upper limit of the median class of the following frequency distribution js

S B08 REDBy DErEOS’, BoegRe BEHS I ¢
Class Interval 50-70 | 70-90 | 90-110

110-130] 130-150 [ 150-170]

HEND @ondo

FREVYO
(1) 110 ) 90
(3) 130 (4) 70

a0
* 210 1s a

L s
210

/(’1)/ terminating decimal
©oBS0aly SToso
(2) non-terminating and repeating decimal
©08H0 5°0 mﬂoﬁn SIS SToBo
(3) non-terminating and non-repeating decimal
@0%0 5°0 HoBasw a;‘:gx)? 5™ G080
(4) None of the above

DD 5°F)
40. The remainder when the s i
he quare of any prime number greater than 3 is divided by
3 Kol -
DB ISR (S Sogg G0, Do) 6 B grRodm By B

(1) 1 o 2
(3) 3 4) 4

SPACE FOR ROUGH WORK /95508 R

/D

101 )
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41. Which of the following Statements is not correct?
o (508 FITTOS" 08 3888 ek

(1) The sum of a rat;
¥ e¥5830%) ational number and an irrational number is an irrational number.
%S OSEEIAD Sogy 50Both 2.8 K8das

v N02)5® IO 2,5 EELH05 502Xk 955008,
/Q) The sum of two irrational num ’ 1 o

bers need not be an irrational number.
B0t S8 o Jaso 28 Esdat S0

T Ry SRS S
(3) ) = PrOduct of a non-zero rational number and an irrational number is an
irrational number.

25 BIDGEE ©SSB0 Homg 9805 2.8 K5 Somg oo .8 KB Sops E0.
The product of two irrational numbers is always an irrational number.

Bot S8 Q08)§® O8I0 JYJPET 2.5 EEBAH Hogy BB,

(4)

42. The HCF of 306 and 657 is
306 H08asn 657 © K.ar.5e.

(1) ~10 (2) 8
?/9 (4) 7

43. The value of logy32 is

1 32 @), DD
(3: 5 i

ing i ?
If A={1,2,{3,4}5} then which of the following is incorrect:
44' = 3 <3 » 1 3

5} eowd, e (208 " DB $8@HB S°E?

= 4%,
A={1,2,{3,4} @ (BacA
(1) {3:4} eA (4) None of these
(3) B4cA

DD 5°R)

i t
ntaining 3 and 6 elements respectively, then wha
co
the two S€ts
. pnumber of eleme
3 Bos» 6 4 ez SOR DL

' ?
45. If A and nts in AUB

ean be the maximu

wé, ALJB?SG @'Od Ho
iz B o0 SHIT 3 2

Bots Boosoes A P

g0 KB 905 2087 (2) 10

g ; - 113“3&)?, D) -
[3) - SF’)\CF FOR Iﬂl’JUGH WORK [ &E0s A

(P.T.O.
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46. The number of subsets of the set A={p,q} is
A={p,q} &3 SWAE Ko & SBoe Joz)y

(1) 2
3) 3

Which of the following is a polynomial?
o (808 TAS° I8 a8 50587

(2] 4
@ o

47.

5

S T
@) 2 3k

1) x?-6Vx+2

(3) 5x2-3x+42 (4) 2"2_%+3

48. If o and B are the zeroes of the polynomial f(x)=6x?+x-2 . then the sum of
J 0

Zeroes is
flx)=6x2 + x - 2 &S FSB8 Ke BIPT0 0O, B 90208 7763 Do e
1 =0
(1) = i e

t':'o1 (2) 6
@) - -
4 —
3 (%) 3

( )

(1) cand g have Opposite signs (2) cand q have same si
c 08w i
a e SsBBY H&en € 0Bai @ en &8 Koty LR
EAR Hoerony ) }
"y % 0&I°00)
4
ac (4) None of these
TDD 5%

50. If o, p
» B ¥ are the roots of 4,3 * .2
; X" -6x“+7x+3=0, then the value of of +By+ya is

4x -6.x2+'?x+
3=
0 D), Soreren o, B, ¥ &0 e0nd, off + By + yo B0, Dewsd

(1) il
4
(2)

(3)

SPACE gy
R ROUGH WORK /DB ity

Wi
N[w p[~
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SECTION—j . PHYSICS

rmati
s1. Fo on of dew ang fog is due to the process of

BOALT°RL DBA rKBy0K, DY Seeaiay @ON (S8
(1) meltin
g (2) freezing

I8DESDH0
VAR
3) evaporati >
5 = _,("ﬁ condensation
s
TepHRDe Ao|BE8e0

52. 40 g of water at 40 °C is added to 10 g of water at 80 °C.
the mixture is

The final temperature of

40 °C &3S SRS 40 1. HE3D B0 °C éqppfes LORS 10 . De38 EOIT50. ) D500 Gk, BB

&1 &
M 48 °C (2] Ao NG 9

[3] 120 OC (4) 64 o

53. A light ray bends away from normal when it travels from

so0d 85830 @020 o0& BIrgore HoRvHie &Oc aSTPRE Sty

(1) air to water ._(2']" water to air

LY

8§ Ho0& De3S 53 Hooc mdS
a%
ir to gl
(3) water to glass (4) air to glass
&3 B0 meersd mé H008 meekd
Ded Doocs nee

54. If v, and v, are the speed

respectively, then
Boctk 0IT°RS°

%5 foeasre0 SRR

n, #8050 1, A |

LB 02
P - (2) vy, m
(1) Vg T2 -)
h ﬂf;r
v1 n—% (1) Vg ny
3) 5. .2 - :

f light in the two media of refractive indices n, and n,
s 0

&° sr0d e ST v b U, oD

' oSO8 RUOA
o ——= ROUGH WORK 1 D508 Qe
SPACE FOI

:
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55.

56.

57.

58.

d of light in vacuum is ¢. The speed of light in a medium of refray,
The speed O

:::;; fo;sﬁﬁo ceond 4/3 m 5186555 1ea%0 E¥ORD aSrEods’ 5208 Sifo
(1) ¢/3 (2) c/4
(3] 4c/3 (4) 3c/4
The stars appear twinkling. The principle involved in it is
S¥Eren DoBRT® E55csEran. B8 5580 ©00D s°08 BIPBHD
kf) refraction (2) reflection
588550 SO0
(3) total internal reflection (4) dispersion
SoJronds Sonddo IE5e0

A rectangular tank of depth 4 m is full of water of refractive index 4/3. When
viewed from the top, the bottom of the tank is seen at a depth of

4 m S0 EORS 2.8 &?g DBYRrsE 8 4/3 S8g5590 Dewsd EORD HE3E® Do &oB. D KN Kok
BrRHHE EF edolH griHn $0dow S

(1) 3m (2) 2m
3 133 m (4) 1m

A convex lens gives a virtual image when the object is placed on the principal axis

&5 $05r5°8 650 TR (STTEOP 50 DG DO AoHHED DT (B0 IFyBI08?
(1) at infinity
506 Ko
(2)  at centre of curvature
2[5 Soitio 58
(3) between focal point and optic centre

P05 By BB 68 Boso D06

b
3)  between focal point and centre of curvature

| DOD Bty 538cis @ Boieso Bugss

SPACE FOR ROUGH WORK /DB sy
e ®
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¢ il sctive of the $hon
59. lrrespec 1¢ position of the obj :
e FAT . ject on the princi axis. ¢ e Latia
always forms an image of nature PHAGIPAI ARG LR aEICHe

DD y .
DD | GS“. E!". 50D GODN ﬁg;;ao&“ NORIOGHO BEIOG®, 2.8 HHeavsess Kerko DQPET DR (SEBOL AgEHO
L e (2) real, erect
De3, BoBodenrr
r

[,3’] virtual, erect

(4) Does not form any image
5, VYDV @D s

60. The lens which is bounded by one-curved surface is
28 HEBeo AR &) Swso

f,l’I ) biconvex (2) biconcave
Bgr0g75°8 Bgerses
(3) plano-concave (4) concavo-convex
PHBe-HersY BHyeorseE-K0erses

61. If 25 cm each is the object and image distances due to convex lens, then its focal

length is

25 cm © $39 &re8o H0805» B@DonsTso SOR &y 050 EeoEo Boof), TrergoBio
(1) 50 cm (2) 25cm

(3) 15 cm | | /(,4‘)’ 12:5 cm

62. The angle between paraxial rays and principal axis is

208y 00S 88eTOR %5805 [STrERS Dogy G0 &%0

(1) 02 (2) 45°

(3) 90° _ A4) 83°
63. Splitting of white light into VIBGYOR colours is called
& VIBGYOR oo 95259 a5

@gé ol 5°0 2 |

(1) scattering /(,gf dispersion

(3) total internal reflection (4) refra tlan
éo;’g“cgo{bd HorHdvo 585850

SPACE FOR ROUGH WORK / m:g:ﬁ::}g %K):m

Y jpe
e
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64. The light which has the maximum angle of deviation is

KBQ Do §%mo SORY sP0d ol

(1) red (2); yellow

255 ' 5509
(37 violet (4) green
- Bors 3505

65. Blue colour of the sky is due to the scattering of light by the atmospheric molecy,

of

5950 DO BoKS® K556 So550, 1508 BWGS o) TTHEE HESTPEDHOD 5708 I8 Heao Josz,
(1) H,0 (2) * CO,

(8) H, (4)" N, and O,

N, 20Baiw 02

66. The power of a lens of focal length 20 cm is

20 cm aﬁaﬂg}oi‘sﬁo EORD Sl avmgso
(1) 5D (2) 02D
(3) 1D (4) 2D

67. In hypermetropia defect, the image is formed
B8 85y 6°50S° ) B@@0e D00
) beyond the retina (2)
B esde
(3) on the retina

B3

before the retina

Bedar S0

(4)  Does not form an image
98B0 )R>

s B
68. For a normal human-eye 2.5 cm is the distance between

N0e ANHE 0638, 25 om D63 205 STES0

(1) eye-lens angd '
cornea (2) eye-lens and retina

5063 05998 19y
(3) reting B e TR TR R 85
(4) retina and object

e Bedior B 350 Sucss

3 'K
PACE pop ROUGH WORK /8%0598 ae540s
> @

__———""/
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uIEs

Séo

69-

70'

71,

72.

3) 4Q

In old age, the value of

BFL5eS* BAIAIY SRR S0

, DD Aoy
/(,1"} larger valye FO
Jg.)h?-‘) DD DG (2)  smaller value
(3) Does not change " BEY,D Des IHH
4) None of these

JEVD DIEK,
T 505

Electric power is the Product of current ang

g)eﬁ_)ég #éoggo S RIVA DBFS (S0 B080%as © ©a0o
—— Q e

(1) resistance

(2) charge
FG&GQSO :
. e TRYT
ve L :
(3) VCILY: ~ {4} potential difference
2o EYoNHS Bz

Three resistors each of 4 Q, 04 Q and 0-04 Q are connected in series combination.
Their equivalent resistance is

4 Q, 0-4 Q 558050 0:04 Q Jenden EORD Dweed JE Eroy [Fed Doprao Do, 7+ 596 250

(1) =8 2) 4440
(4) 0440

Pick the correct answer from the following two statements :

808 Botk e B008 SOES BTG JoRET0S

(@) Ohm’s law is applicable to semiconductors.

eag:v::r“?m &

(b) Ohm’s law

55 DoKoRR) Jredvzo0.

is applicable to metallic conductors.

S TS0 5,55 DOAIRY AL
2] b) is t
Only (a) is true 2] Only (b) is true
: i A (b) S0 Deso
(a) ST°B2d D0

(4) Both (a) and (b) are false
nd (b) are trie

(@) 58050 (b) ot HIPS

S

(3) Both (@)@
(@) 5603 (b) o0
SPACE FOR

3o QD

ROUGH WO RK /OBIHRS iomd

\/ |
|

| P.T.O.
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73. 6 watt x second =

0 Ty X VB =

(1) 6 volt (2) 6 ohm
6 5°¢ 6 65

(3) 6 joule (4) 6 coulomb
6 &S 6 Lrerod

74. The relationship between current and voltage is established by the scientist

DES [ST5*08 0B S8 Dogis Ko SoworeRy Ker) DD THIG

(1) Faraday (2) Oersted
o~ | soERE
(3) Kirchhoff (4 Ohm
. i -

75. The electrical energy (in kWh)

consumed in operating a bulb of 40 W for 5 hours 2
day in a month of 30 days is

30 W rdas0 SORS 2.8 265058 wenyy 5% 5 Kosen DAY, 30 8%en Ko Jos® sadrNo vdly

D555 28 (36" ey Howes?)
(1) 12 g -~'(§i _ 6
(3) 3 |

(4) 15

76. Which of the following is net a Mmeasuring function of g multimeter?

53983635 Se52, FAE oof

(1) Cha
rge (2) Current

i
| ? D (Saridro
(3) V':ll;uﬁ: .

: (4) Resistance
S r
-—-——-——-q_q“f;_____“ e 060
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| Qndu t
| | D Ko oGy mgb 6% o . Q:;l of length ; then
R o 1
() 7
(2) R o ]
(3) R« \ﬁ

(4) Ris independent of 7

D R esprissesess

2) 10
(3) 25 E4; i
79. 1 tesla =
| 1 &y =
(1) 1 weber (2) 1 weber/metre
1 b 1 306/ 50608
( 1 vi.re-i:::e-r/metre2 (4) 1 watt/metre?
1 D05/ 20852 1 ey /20005°
80. The phenomenon of electromagnetic induction involves the process of

DA, 08 &)figRiood” a0l BIE0
(1) charging a body

oo eiEgrOB0 Bostio
(2) heating a coil

Hisogdo DG DAE0 |
g induced current 1

& Heoolf BOREO
B DS i e oad

n a coil
(3) producin
BisoS’ [ d
ue

(4) preventing damages

BoVc0
£ 4o Hapod BT K058 Qe
Rk 8.965°G 59 P GGH WORK /982 %
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If A0 and At are the change in magnetic flux and time respectively, then t,
81.

induced EMF is

AD 308050 A €0 009,08 GPDT ST 458000 SPOR HEISI® €3000B (2288 :)d&;gsqggbg;g 20Ky

AR
A ;a0
(1) RE ,-‘/ ) At
At
(3) A®-At 4 3o

82. A freely suspended needle of a magnetic compass comes to rest along the geographi

Sab08 BEYIR0EE BIBD NEEYT S0OBIED, BB &I Bk, DRYORBE 550y Ben

(1) north-east direction (2] east-west direction

aBE-BIr8)) B3 BIPK))-5eS08 Ben

(3) south-east direction (4)" north-south direction

G588
& ) Ggen &B5-88e B¥en
83. An increase ip m

of 100 turns in 0 Ly )
EMF generated in the coil is Sin 0-1 s is 0001 Wh. The

wJb)) tf@ﬂé @ﬁ:l)
o i i %39550'136“5&)&&9@‘53& o
(2B “a’é;“-"a',")@)ﬁ Doitss Bas LOB RTG EKNHEe 0:001 Wb eoad b%@ B3
(1) 1y
: (2) 10V
(3) 04
v
i SNEGS (4) 100V
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gh The magnetic foree

= actiy

three quantities 11::111]@113 on a Moving o}

o T y 1arge in a magnetic field is the product of
) @502

i 09 IDVasyy
1) charge, -
(1) ge, speed, electmmmw f ©OHR,08 B00 1BoH Ha57¢h 0O B85
€ lorce

Peed, magnetic f

‘//&3 0 \:JC?&, esdhﬁ“bo%j o
(?] Charge, Speed, current

(3) charge,
. ux density

PO|L5EH

. 85. An 31-1120 51111?“’31' started an auto rickshaw with the help of pulling a rope. The device
used by him to convert mechanical energy into electrical energy is

a8 aeS‘@f_aﬁ'eseS“Bgm B K0 A0S’ B BRI, RoBIS® ATro|@E #8, DeogS BT SrEe
TG TR0 '

(1) multimeter (2) transformer
$09Boe0B Sy

(3) dynamo (4) voltmeter
@S 5°G doeb

o i ce of
magnetic induction is a consequen

86. Faraday’s laws of electro
) 9200980 a0

o5 DSSIRY0B (D58 DT
(1) conservation of mass
2 B0
(2) foifcnr:fiosn of linear momentum
Bhos (5D 0SB0 -
(3) conservation of angular MmO
o (SO RSB0

nergy

(4) conservation of e

8 Jeand
ih ]

#8 DB

| P.T.Q
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87. The C.G.S. unit of heat energy is

&3%88 C.G.S. (S0

{1) joule (2) kelvin
&S 3950

(3) dioptre (4) calorie
&Gasrgh _ 35

88. If 27 °C + x = 300 K, then the value of x is

27 °C + x = 300 K @0nd x dens
(1) oK (2) 327K
(8} 273 K (4) 300K

89. The pair of substances which have the same value of specific heat is
28 DBYJ0 Dewd EORD oty S°RE ooikven
/(/I}/ copper, aluminium (2) zinc, iron

5555, ©RTAOHO 20§, 0sn
(38) ice, kerosene oil (4) water, ice
oo, 85%5 R, B0y

920. During the process of conversion from liquid to solid, the internal energy of the

(S50 00 50i LI 558 (518t Hed ©OBYEH $§

(1) increases (2) decreases
ADNHEH SiHE0od
)S‘J/}emains constant (4) None of these

~ pYorr downod C 3h sy
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SECT[ON——III : CHEMISTRY

2 2
3. 187,25 6

,8) confi ti :
1821 2323 2P6a 352 Spﬁ (2 8 Bistod = relatEd to

e 8) D80 6 SomoBonss.
5 (2 el

(3) s | (4) Al of these

OO0
92. Lithium, sodium and _____ are Dobereiner’s triads.

O8N0, FEaHr0 28510 @9 mbdb @Esen.

(1) s (2) Ca

(3) cI (4) K

93. IV A group elements are called
IV A group arosei B0 Devso?

( /' carbon family (2) chalcogen family
S°8)® £en0w0 - TS ms Henowo

(3) nitrogen family (4) boron family
D(eS’esS Lrewowo o7 £He0e0

94. An element X’ belongs to 2nd group and 3rd period. What is its valency?

2 5 e “08050 3 9 280HEL Dodd X’ e5d BaTeeKo B, DOR)
2

(1) 1 121

(3) . 3 (AY <

g5, Valance Bond Theory was proposed by

2060298
g %%ncémm i (2) Kossel
(1) Lewis e
WOJJEJ (4) Bohr
})3) Pauling -

.ﬁ"@oﬁ = /a@;&.‘{)g %:;a v
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96. ldentify the correct statement.

98 @005 Y505 KBowod
(¥) By losing electron chlorine becomes cation
V4

OFAR E'S x50 Toe §°0S SteaatTROT® SR
(2) By losing electron chlorine‘becomes anion
o F 5% Seo moe §BS esdatITRT $HR
(3) By gaining electron chlorine becomes cation
QOO Frodito T §BS SreaaITRINT SoE
(4) By gaining electron chlorine becomes anion
DO Frolto o> §BS eSO ST

97. An element 13}{27 forms ionic compound. What is the charge on X’ in ionic compound?

13}{27 &9 S0TreE0 eafIedE ;’JCI"?;Q! 5208 ©odS’ e ;.’)mgoé“ X' Sagreso G308 e53%0 (charg|

QDO ?
(1) +1 (2] +2
(3) +3 (4) +4

98. Linus Pauling proposed the concept of
B0 80R ($8B0d% grdd HB?

Jlx]’ ionic bond (2) hydrogen bond
e0iDE oo . PGB oS0
(3) hybridization (4) covalant bond
J050Eea0 Jo@resdah oo

99. Electronic configuration of O™ jon is
07 ety @A), Jog Dy

(1) 1:22, 2s§, 2p: (2) 182 262 2p°
(B ; | 2 ] ]
P ) %, 2p (4) 1s% 252 2p3
100. Th i i
He number of electrons gained by non-metallic element is equal to its
28 ob% et 2ol DO QOP WD Shoeso
(1) valenc |
o y (2) group number
& n) I
() Nog)
(3)  bond angle (4) Al of thi
— ¥06 8o yatn -
52
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jol- Reactivity increasing order of
Of th

808 Joreste s : € followip
: BB05 267 5550 55 8 metals wil] pe
(1). K, Na, Ca ?
) Ca, Na, K ) X ca N,
. (4) Na, K
102. Poling process is used to ke
29oh e | |
(1) concentrate the ote - .
red
D06 PJes Fro|BESe ;J Heehsipre
(3) heat the ore with 0, @ ?3.5‘05055930
ShEge ) purify the crude metal
)BOS TN D& DasHio 95“&%32
103. Corrosion of silver results in the formation of
Dok EaHidw STo85H) DR,
H (1) silver chloride (2) pure silver
dexh 506 BgyRw% Jod
(3) silver nitrate (4) silver sulphide

104. During corrosion, a metal will
S8m50) EoBo SToBRYE, & SEPH

(1) be oxidised (2) lose electrons

dogRIoR 5™

es&)¥i5e90 DOLID e
(3) be reduced 4 (1) 31;05;]2

¥o$o58€30 Do (1) 20 (2)

05. Replacing one hydrogen from NH, by alkyl group will result in the formation of
il 8,6 D T5T NH, %006 2% 2p(ES% §efodd () Degeéa0.
€3 3
2) ketone

(1) aldehyde (2) s

9§'{%';5 (4) ester
(3) amine€ -

9@5
SPACE FOR ROUGH WORK | 0S8 R0
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: one?
106. What is the structural formula of simplest ket

107.

108.

109.

110.

808 TRS* ©d dgedses (simplest) §65°% 28?

(1) CH,—O—CH,
I
(8) CH; —C—CH,

Ethene and ethyne differ in the
S0 208a 23S FBoD eowen
(1) number of carbons
s°8)d0 Bogs
(3) number of hydrogens
- &S Rdoas

Identify the dimethyl ether.
SBS e85 w0 H0Bovod
O

(1) CH;—C—CH,

Saturated hydrocarbons contain

P0B)S B Sen 5OR &ochi.

(1) at least one double bond
£d%0 2.8 Bgmodso

(3) all single bonds
d) DE eodnen

Aliphatic hydrocarbons are

esde3E PE s Sen v

(1) closed chain hydrocarbons
VOB FoRe (& s Sen

(3) open chain hydrocarbons
D56 Byope 1;:[15'5"6‘)50.)

(2)

(4)

(2)

(4)

(2)

(4)

(2)

(4)

(2)

(4)

CHS—-— NH2
(@)
Il
CH3 — C—OH

number of bonds
20GD0e éoa)eg

(2) and (3)

(2) 56050 (3)

CH,—O—CH

Il
CH; — C — OH

at least one triple bond
§0%0 a8 ®aoso

at least one ionic bond
550 2. VATV 200

acyclic hydrocarbons
aé@oﬁiﬂ&&e‘?ﬁa}&u

(2) and (3)

(2) S08aiy (3)

SPACE FOR ROUGH WORK /08
=S

:
gcollegedunlas
India’s largest Student Review Platform



2. If pH of rain water is less than

:JE?O 5’5.).)5

(1) Turmeric Solutmn 8085 Beosnds b srass,
‘am:@’ [!3":52'30 {2) Litl’ﬂua o
(3) (1) and (2) dx

(1) S08asw (2) (%) None of these

Tod %)

__, then it is called acid rain.

$8H Hed pH 2
E P e S0l BE)IT &, TR &) Do @O

(1) 56

@) 66 (2) 76
. (4) 86
113. Tooth enamel is made up -of
SoHo B0 SR & Y &oe08. —
(1) calcium sulphate (2) calcium chioride \ ; |
s29ao 2By s goso §05 1'. '*Tt
(3) calcium phosphate (4) magnesium sulphate 3
52900 20 2ofycwo $B)S P

potassium hydroxide on red and blue litmus papers?

observe on pouring
2 B, 28 & 95030°R) K887

(EPDOER0M ¢ DB 20800 59 deyd S°ABO

ains red and blue litmus turns to red

=9 09 @w&a T BIERD

to blue and blue litmus remains blue

= HO deyR Bye)oTTm GO
litmus remains bhae

(3)
65.‘:“!99 eol{rd), 7R 0é) @eaé‘fo byey0TTom 06N

g turns to red

and plue litmu

550 5O D HDT 5780

| P.T.O.
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115. <The maximum number of electrons in M shell is

M $8y506° soit 1B dogeroe Soas
(1), 2 (2) 12 |
Jfﬂ} 18 (4) 24

116. Which of the following orbitals does not exist?

S08 =05t 5 €58)e°5 DesSoore dotitH?
1
(1) 2p° (2) 3s

(3) 42 %ﬂ{zf :

117. Niels Bohr received Nobel Prize in J 1

by 5% TR06° S20& Hiim, 8o domtn? \

Y Chemistry (2) Physics
Saraiom AR
(3) Biochemistry (4) Biophysics
DS BT D :

118. The number of degenerate orbitals present in 4d subshell is
4d es8)6756° 2.8 38 Mo &S88o70 o)
My 8 (2) 10
5 )<4} 4
119. Presence of 3 unpaired electrons in nitrogen can be explained by principle,

BETBOS® 3 astbireei DOV S0EER) 93803 D0

(1) Aufbau 4 (2) Pauli

@ DOHABN € DOHBIBD
’ (3) Hund | (4) Bohr

o QALK &5°6 DABIH
| , 120. Strong ionic bond is formed between - and group elements.
; 3 a 3; DO ©OTTDE 2080 Hs ) Saresee g5 6523180
o Q (1) IAandIia 2)” A and Vi A

B () 1A and viIa (4) IA and viIa
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